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World Geography Practice Assignment 01
DIRECTIONS for questions 1-40: Mark the best option:

1.

The cup-shaped mouth of the volcano is

A) Focus B) EpicentreC) Crater D) Cinder cone

2.  Which of these biomes is called the "Bread Basket"
of the world ?
A) Mid-latitude grasslands
B) Taiga
C) Mediterranean
D) Tropical Savanna
3.  Asia and North America are separated by
A) Bass Strait B) Strait of Dover
C) Bering Strait D) Cook Strait
4. Largest fresh water lake in the world is:
A) Superior B) Caspian Sea
C) Ontario D) Dead Sea
5. The clouds float in the atmosphere because of

their low
A) Temperature B) Velocity
C) Pressure D) Density
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6.

The Three Gorges Dam, is the world's largest
hydropower project and is located in

A) China B) Brazil C) Russia D) None of the above

Which country is the largest producer of
newsprint?

A) Indonesia B) Finland
C) Canada D) None of the above
A cyclone is an area of

A) Low pressure surrounded by high pressure on all
sides

B) High pressure surrounded by low pressure on all
sides

C) Subsidence of air

D) Divergence of air

Daylight saving time (DST) implies adjusting the
clock by one hour:

A) forward near the start of spring and backward in
autumn

B) forward near the start of autumn and backward
in spring
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10.

11.

12.

C) forward near the start of spring and forward in
autumn

D) backward near the start of autumn and
backward in spring

More than 50% of the world’s coal deposits are
held by:

A) China, India and USA B) China India and Russia
C) India, Russia and USA D) USA, Russia, and China

Consider the following as possible result of
reversal of the dates of aphelion and perihelion:

I. Summer of northern hemisphere will be warmer
[I. Winter of northern hemisphere will be cooler

[ll. Summer of southern hemisphere will get cooler
IV. Winter of southern hemisphere will get warmer.

Which of the above statement/statements is/are
true?

A) I, Il and 1lI B) ILIIl and IV
C) LI, and IV D) I 11, [l and IV
Our galaxy is in shape.
A) Spherical B) Elliptical

C) Spiral D) Irreqgular
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13.

14.

15.

16.

Why Russia (erstwhile U.S.S.R.) have/had many
local time differences?

A) Because of long east-west stretches
B) Because north-south stretch is more
C) Because it covers two continents

D) Because of large differences in climate

Equator passes through which of the following
countries?

A) Australia B) Brazil

C) South Africa D) Saudi Arabia
Xerophytes can tolerate and stand against:

A) High temperature  B) Severe Cold

C) Humidity D) The drought Conditions

In the acceleration stage of urbanization the urban
population constitutes:

A) More than 70% of the total population of the
state

B) 25% to 70%
C) 10% to 25%
D) Less than 10%
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17.

18.

19.

When the wind is deflected due to the rotation of
earth it is known as

A) Planetary wind B) Geostrophic wind
C) Accidental wind D) Forced wind

Consider the following Statements regarding Heat
Zones of the earth:

I. The area between the tropic of Cancer and tropic
of Capricorn which receive the maximum heat are
called frigid zones.

Il. Areas lying between the Arctic Circle and the
North Pole in the Northern Hemisphere and the
Antarctic Circle and the South Pole in the Southern
Hemisphere, are very cold and are called torrid
zones.

Identify the correct statements:

A) Only | B) Only Il

C) Bothland I D) Neither | nor Il
Which is the capital of Uganda?

A) Jakarta B) Peru C) KampalaD) Vietnam
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20.

21.

22.

23.

24,

25.

Which of the following is the second most
abundant metal in the earth's crust?

A) Copper B) AluminiumC) Iron D) Zinc

The soil formed by the deposition of silt brought by
rivers is

A) Alluvial soil B) Red soil
C) Black sail D) Pod soil

Where the Hwang Ho River that changes the
course every year is situated?

A) India  B)China C)Korea D)Japan
Which of the following is hottest planet?
A) Jupiter B)Venus C)Earth D) Moon

21st June is the longest day in the Northen
Hemisphere. Which is the shortest day?

A) 22nd December B) 25th December
C) 31st December D) None of the above

Sunlight is an example of which of the following
resources ?

A) Biotic B) Localized
C) Exhaustible D) Ubiquitous




hitbullseye

26.

27.

28.

29.

Where are most of the earth's active volcanoes
concentrated :

A) Europe B) Pacific Ocean
C) Africa D) South America

The deflection of the winds to the right in the
northern hemisphere is caused by :

A) revolution of the earth

B) rotation of the earth

C) uneven heating of the earth

D) All the above

The Grand Canyon is located on the :
A) Colorado River B) Rhine River
C) Tapi River D) Niger River

The Savannah finds its ideal conditions of growth
in:

A) mild and humid climate
B) dry summer and wet winter climate
C) hot climate with seasonally dry condoitions

D) hot summer and cool winter climate
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30.

31.

32.

33.

34.

The deposits of the ancient Tethys Sea were folded
to form the:

A) Himalayas B) Rockies

C) Andes D) Alps

Atmospheric pressure exerted on earth is due to :
A) rotation of earth B) revolution of earth

C) gravitational pull D) uneven heating of earth

Trees are leafless for a shorter or longer season of
the year in

A) Evergreen forest B) Mangrove forest
C) Scrub jungle forest D) Deciduous forest

From where did India introduce -cultivation of
tobacco/tapioca/pineapple?

A) Pacific Islands B) Africa

C) South America D) China

Which one of the following is the greatest circle ?
A) Arctic Circle B) Equator

C) Tropic of Cancer D) Tropic of Capricorn
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35.

36.

37.

38.

39.

40.

The line on a map connecting points of equal
temperature at a given time is

A) Isohyet B)Isobar C) Isthumus D) Isotherm
Convectional Rainfall occurs in :

A) Equatorial region ~ B) Temperate region

C) Tropical region D) Polar region

Which from the following is a land-locked sea ?
A) Red Sea B) Timor SeaC) North SeaD) Aral Sea
Cloud is a colloidal dispersion of

A) Air in a dispersion medium of water

B) Fog in a dispersion medium of water

C) Mist in a dispersion medium of air

D) Water drops in a dispersion medium of air

Which variety of coal contains recognisable traces
of the original plant material ?

A) Anthracite B) Lignite
C) Peat D) Bitumen

The soil which originate under tall-grass prairie
vegetation is called

A) Black soils B) Chestnut soils
C) Chernozem soils D) Terra rosa soils
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Answer Key
Q. No. Key Q. No. Key
1. C 21. A
2. A 22. B
3. C 23. B
4. A 24, A
5. D 25. D
6. A 26. B
7. C 27. B
8. A 28. A
9. A 29. C
10. D 30. A
11. D 31. C
12. C 32. D
13. A 33. C
14. B 34. B
15. D 35. D
16. B 36. A
17. B 37. D
18. D 38. D
19. C 39. C
20. C 40. C
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